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PART A
{30 marks)

Anywer ail (he question

m-wm&ﬂmmmw#mlhm
Mmmu:ﬂhumﬁﬂmbﬁ-mmmuhﬂw-

1. A boy sold some lemon fruits at three b was ‘mm-
Bow sty of thi s for GH¢5.00. If his total sales GHe

A 120

B. 200

2. 360

D. 1,000

2. Sdmhhnnmbowwﬁhlwpmdh."udthumumd 12
A.MID how many boxes will be fully filled?
B-11
c.12
D.13

3. ﬁﬂr-hmﬂhmmnm-mghhmummdmmmd
girl-mth-nmhun!baﬂlmhuchu?
AB:11
B.9:20

C.11:8
D.11:280

4. Which one of the following hacﬂmmm%mdi?

5. Atrader allows a 5% discount for cash payment. What will be the discount allowed

for a cash payment of GH¢8,600.007
A. GH¢250.00

B. GH¢280.00
C.GHg¢1,120.00

D. GHg8,320.00

A number is to be chosen at random from the set (1, 2. 3,
probability that the number chosen is odd?

A3

4. 0, 0). What 1 the

C.

o
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The table bolow shows |
10 answor quostya.s ?ﬂn:::’ﬂ:hutmn of 8902 of atudonts 1n & class Uae

| Age (years) | ' T
——— 14 15 la 17 1R
Numbaor of Students | 1w | 25 C T 3

the thiormatiop

7. How many students are in the class?
A 18
B. 38
C.48
B 80

8. Whatis the modian aaus
A4 e
B. 16
_B.16
D.17

9. The average age of 3 girls is 17 years 4 months The average ago of 2 of them 1s 17
years 3 months. How old is the third girl?
A. 16 years 6 months
B. 17 years 4 months

A= 1T years 6 months
D. 18 yoars 4 months

10. What is 78,910 correct to the nearest thousand?
A. 70,000
B. 78,000
~€.78,000
D. 80,000

11. A trader buys 7 sheep at GH¢360.00 each and solls them at GHe300.00 each Wiuch
of the following exprossions represents the trader's profit?
A. 7(280) - 7(300)

. 7(300) - 7(250)
C.7(260) - 300

D. 7(300) - 280

12. A rectangular field has dimensions 90m by 20m. How many metres of wire mesh
will be needed to fonce round the feld completely?

A 110m
A 220m
C. 1800m
D. 2200m
13. In a class of 30 pupils, 10 are females and the rest are malos. What is tho chance of
picking a male at random from the clans?
Al
4

1
B. 3
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A. 38 the moan score became 7. What was the new score?

B. 47
C.100
D. 147

18. In & survey involving a sample of 1,800 adults, it was observed that for every &
m‘“mnlndlmm How many mon were pant of the sample’
B, 450
cC.720
D. 760

16. Which one of the following statements is true?
A=6
MINIX2IN2IN2 =2
C.Ix3IxiIx] = 4!
D.3434343=3

ﬂ“lllhnphﬂthnnudnm.mlhmmqumu
and 18.

s
L]

P L) m_.f

&m
l s S ————— s x .._-...q,..-..-...-___..-..........

Figure 1
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20. The morning session in a school began at 7:28 am wntha

was lollowed by three lessons gach 40 munutes
did the breakiast penod stan?

A g0Bam

B. 8:35 a.m

2. 945am

D.10:26 am

vy until ghe completes

a slory book every di
pages, how

21. Evelyn deadod 1o read 7 pages ol e
reading all her story books. If she has thiee mtory books oach WRILEE 8

many days will she take to funish reading tho thro

A6
B. 12
C.18
D. 24

y hookn?

q 1 v tho
for 1o eET s in !j.]',l_l.-! o} \Iﬁl _hl’

The graph below shows attondance during a week |
information to answer questions 22 and 23

Days

Monday

L L]

B Num e o | ey

22. On which day did most of the learners ropoit to school?

A. Tuosday

B. Wednesday
C.Thursday
D. Friday

23. What is the percentage increase i attendance from Monday to Tuesday?

A 20.0%
B. 33.3%
C.80.0%
D. TSU»
£4. Mrs. Bonney left Accra al 9:08 a.m. and armved at Mankessun at 2:07 p.m How long
did the journey take?
A. 2 hours 48 minutes
B. 2 hours 58 minutes
C.3 hours 2 minutes
D. 3 hours 8 minutes
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Use the information below to answer question 25

21.

I ——

Ama, Baaba, and Caro oach has a piece of rope’
Ama's rope is 0.6 metre long.

Baaba's rope is 0.49 mete long.

Caros's rope is 0.288 motre long.

Which of the following statements is true about the lengths of thew ropes?
A. Caro's rope is the longest.

B. Baaba's rope is the shortest.

C.Ama's rope is almost twice as long as Caro’s rope

D.Ama's rope is shorter than Baaba's rope

A class of 39 students is taking a field rip to a beach. Each student's bus fare to the
boach is GHE15.00. Which of these expressions can be used to find the total amount,
in Chana cedis, if overy student pays the {are?

A (30 +10) + (38 + 5)

B. (39 x 10) + (38 + B)

C.(39 + 10) x (39 + B)

D.(30 x 10) x (38 x B)

The sum of the ages of a sot of twins and their four-year old brother is 20 years. How
old is each twin?
A4 yoars

B. 8 years
C.8 years

D. 16 years

Which of the following angles can form the interior anglon of a triangle?
A 30°,40°, 507
B. 307, 60°,90°
C.40%, 40°, 80"
D.50°, 50° 457

Seventy students were asked aboul their preference for Banku or Rice The
diagram below shows the resull.
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[ 30. A head teacher orders thli‘l pointers, five markers and ten whitoboard crasers
The unit price of the materials are shown in the tablo below

Rem Unit Price (GHg) |
Pointer ~ B1.00
Whiteboard marker 3.88 1
Whiteboard eraser N 1.88

mmdmwnwwqm!}abmuummuolmnmlllcﬂt?
A.B0(8) + 3(B) + 2(10)

B. 80(B) + 4(5) + 2(10) |
C.00(B) + 3(B) + 2(10) |
D.80(8) + 4(8) + 2(10) |
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